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Abstract -

The Fields Medal is an award established in 1924 by the ICM (International Congress of
Mathematicians) and is restricted to mathematicians up to the age of 40. It recognizes
both existing work and future promise, and is equivalent to the Nobel Prize.

A trick 1s shown in this article that proves 1=2. However, during the steps division by
zero is used. Since this is not allowed, the conclusion is false. Or it would be unless zero
could be shown not to be nothing. Zeros are something because they're paired with
ones to compose the binary digits essential to the formation of everything in space-time.
This means zero has been misunderstood throughout history, division by zero iIs indeed
permitted and the conclusion that 1=2 is correct. In turn, this means that while 1+1=2,
141 must also equal 1. This mathematically validates the centuries-long march of
physics towards unification of everything in this cosmos. Unification occurs not just in
the present but the entire past and future are naturally part of this one entity/event.

The article then explores possible consequences for 1) Einstein being correct to divide by
zero, 2) Hidden Variables and Determinism, 3) that zero is not nothing but actually

something, 4) that zero redefines the term infinity, 5) that there really is another explanation
for the origin of the universe besides the Big Bang, 6) and another explanation for black
holes, 7) possibilities regarding life after death and life before conception.

Content -
1+1=2 and also equals 1

1+1 equalling 1 may sound like a trick. See the article "Mathematics' by Howard W. Eves -
"The World Book Encyclopedia” by Field Enterprises Educational Corporation, 1967. This
states:

"Suppose that b=a

(1) Multiply by a, then ab=a2.

(2) Subtract b?, then ab-h?=a2-h2.
(3) Factor, then b(a-b)=(a+b)(a-b)
(4) Divide by (a-b), then b=a+b
(5) Substitute a for b, then a=a+a
(6) a=2a
(7) Divide by a, then 1=2."

These processes appear to agree with principles in algebra. But (a-b) in the third and fourth
steps is equal to zero, because b=a. We'd normally say the conclusion is wrong since



division by zero is not permitted. However, read "DEFINING DIVISION BY ZERO (MAKING IT
NOT JUST POSSIBLE, BUT ESSENTIAL) AND RELATING ZERO TO INFINITY". Dividing by
zero is now permitted (indeed, it's indispensable) and 1 equals 2. It's true that 1+1=2 and also
true that 14#1=1. The equation used merely depends on our perspective and which equation
is more useful at a particular moment.

DEFINING DIVISION BY ZERO (MAKING IT NOT JUST POSSIBLE, BUT ESSENTIAL) AND
RELATING ZERO TO INFINITY

Mathematics books say division by zero is undefined and you should never divide by zero
(the special case of 0/0 is termed “indeterminate”). According to “Einstein’s Only Mistake:
Division by Zero”
(http://refully.blogspot.com.au/2012/05/einsteins-only-mistake-division-by-zero.html),

When astronomers today say they are following Einstein’'s theory of relativity, they are
actually not. Partially because Einstein said the Big Bang theory made no sense. He never in
his lifetime accepted the Big Bang as the way our universe came into being, and didn't
accept Black Holes. He always looked for another explanation. And partly because Einstein
made a school boy error in algebra. What Einstein did was divide by zero during his
calculations ... a no-no in math.

"“Basic Technical Mathematics with Calculus, Sl Version Ninth Edition” by Allyn J.
Washington (Pearson Education, 2010) states on p.9 that "if 0/0 = b, then 0 = 0 x b, which is
true for any value of b. Therefore, no specific value of b can be determined.” My aim is to
show that Einstein was perfectly correct to divide by zero, that doing so enabled him to
introduce his Hidden Variables theory into gquantum mechanics, that zero is not nothing but
actually something, that it redefines the term infinity, and that there really is another
explanation for the Big Bang as well as black holes. By the way, we may have to rebuild all
those sophisticated calculators that produce an error message when you try to divide by
ZEro.

When forced to summarize the general theory of relativity in one sentence, Einstein said time
and space and gravitation have no separate existence from matter. I'll try to follow his
example by attempting to summarize this idea of zero-infinity relation in one sentence:
infinity is the total elimination of distance in space-time, and zero is the nothing (total
elimination) that is something (a “creator” of space-time).

What does 0/0 truly mean? It's asking how many times is the origin on the number line of
positive and negative numbers contained in zero — the nothing that is something. If we
focus on its nothingness, no specific value can be determined and division by zero is
undefined. But if we focus on its somethingness, zero could be said to go into zero an infinite
number of times I.e. the operation gains substance, is defined, and produces determinism.

Einstein said hidden variables carry extra information about the world of quantum
mechanics and complete if, eliminating probabilities and bringing about exact predictions.



The variables thus bring determinism (an exact cause) to probabilistic quantum theory. Zero
would be something if it's paired with one to form the binary digits which are used in
computers and electronics.

| think the Roman philosopher Lucretius was correct 2,000 years ago when he said, "nothing
can be created from nothing”. The idea of quantum fluctuations - which are proposed by
modern science in order to create the universe from nothing - is valid in a sense (quantum
fluctuations actually happen because they're temporary changes in the amount of energy at
points in space). But this doesn't mean the universe can be created from nothing (from,
using traditional knowledge, zero alone). | think the universe, and life, began because brains
acquire knowledge from the 4 dimensions of space-time. Then brains interact with a
Sth-dimensional hyperspace to purposely switch the binary digits composing the universe
from 1 to O or vice versa (this switching would be quantum fluctuations).

“DIGITAL" STRING THEORY AND RENORMALIZATION

Let's borrow a few ideas from string theory's ideas of everything being ultimately composed
of tiny, one-dimensional strings that vibrate as clockwise, standing, and counterclockwise
currents in a four-dimensional looped superstring - “Workings of the Universe” by Time-Life
Books (1991, p.84). We can visualize tiny, one dimensional disturbances in a field called
virtual particles - such disturbances are eguivalent to the energy pulses used in electronics -
producing the binary digits of 1 and 0 (base 2 mathematics).

Their motion forms currents in a two-dimensional program called a Mobius loop — orin 2
Mobius loops, clockwise currents in one loop combining with counterclockwise currents in
the other to form a standing current. Combination of the 2 loops’ currents requires
connection of the two as a four-dimensional Klein bottle. This connection can be made with
the infinitely-long irrational and transcendental numbers. Such an infinite connection*
translates into an infinite number of (Figure-8) Klein bottles - via bosons being ultimately
composed of the binary digits of 1 and 0 depicting pi, e, v2 etc.; and fermions (matter
particles) being given mass by bosons like gravitons and photons interacting in matter
particles’ “wave packets”.

These bottles are, in fact, "subuniverses” (binary digits fill in gaps and adjust edges to fit
surrounding subuniverses [similar to manipulation of images by computers]). Slight
“iImperfections” in the way the Mobius loops fit together determine the precise nature of the
binary-digit currents (the producers of space-time-hyperspace, gravitational waves,
electromagnetic waves, the nuclear strong force and the nuclear weak force) and thus of
exact mass, charge, guantum spin.

* |f the material and immaterial universe consists of an infinite connection of
transcendentals and irrationals, renormalization might be unnecessary In certain
circumstances. This mathematical procedure is regarded as prerequisite for a useful theory
and is used in attempts to unite general relativity with guantum mechanics to produce



Quantum Gravity and the Theory of Everything. Renormalization seeks to cancel infinities —
but in a literally infinite universe, retaining the infinite values might point the way to deeper
understanding of the cosmos.

INFINITY

The inverse-square law states that the force between two particles becomes infinite if the
distance of separation between them goes to zero. Remembering that gravitation partly
depends on the distance between the centres of objects, the distance of separation between
objects only goes to zero when those centres occupy the same space-time coordinates (not
merely when the objects’ sides are touching). That is, infinity equals the total elimination of
distance — the infinite cosmos could possess this absence of distance in space and time via
the electronic mechanism of binary digits, which would make the universe as malleable and
flexible as any image on a computer screen.

If infinity is the total elimination of distance in space-time, there would be nothing to prevent
instant intergalactic travel or time travel to the past and future. Infinity does not equal
nothing - total elimination of distance, or space-time, produces nothing in a physical sense
and reverts to theoretical physicist Lee Smolin's imagining of strings as "not made of
anything at all" - “What String Theory Tells Us About the Universe” by Dr. Odenwald :
Astronomy — (April 2013, p.35). It also reverts the universe to the mathematical blueprint
from which physical being is constructed (this agrees with cosmologist Max Tegmark's
hypothesis that mathematical formulas create reality : “Is the universe actually made of
math?” by Adam Frank - http://discovermagazine
com/2008/jul/16-is-the-universe-actually-made-of-math#.U7sHDalwebs, and “The
Mathematical Universe” by Max Tegmark - http://arxiv.org/abs/0704.0646. So, infinity =
something (just like zero).

STEADY STATE UNIVERSE AND BLACK HOLES

As for the new perspective on the Big Bang, don't think of space’s expansion as the universe
starting with a big bang and the galaxies forever flying apart. Think of it as the production* of
“new"” space by binary digits which is added to existing space and pushes that existing
space farther and farther away. The Law of Conservation says new space isn't created from
nothing but is converted from something else. It may be speculated that new space is
converted from the BITS (Blnary digiTS) of 1 and 0. (Does ultra-advanced human computer
technology of the far future have a role in the universe’s origin and destiny?)

* The beginnings of the infinite number of observable universes would, of course, be
literally infinite. There was no beginning to the universe as a whole but it had - and will
continue to have - an infinite number of creations of its "sub”universes. Creation of the
universe as a whole is therefore forever lost in infinity and it's accurate to say it had no
beginning. (German mathematician Georg Cantor developed concepts of various
infinities in the 1870's, and would be interested in this article.)



Also, recall that each "subuniverse” (bubble or pocket universe) is one of a series of figure-8
Klein bottles (extending infinitely in every direction) composing the infinite and eternal
space-time of the universe. The infinite numbers make the cosmos infinite, the union of
space and time makes it eternal, and it's in a static or steady state because it's already
infinite and has no room for expansion. Our own subuniverse has a limited size (and age of
13.8 billion years), i1s expanding, and has warped space-time because it's modelled on the
Mobius loop, which can be fashioned by giving a strip of paper a 180-degree twist before
joining the ends. (It may have DOUEBLE STRAMNDED, spiralling DNA because the universe is
modelled on TWO twisted Mobius loops.)

And the new perspective on black holes would be — in the case of the sun, our star would
become a black hole if it was compressed to 2.95 kms (“From the Big Bang to Dark Energy”
— a lecture on coursera.org by Hitoshi Murayama from the University of Tokyo), in which
case the pressure increase "shreds” the sun into its binary digits (avoiding problems like
black holes possessing infinite mass or infinite space-time curvature). In other words, its
mass Is relativistically converted into the energy of virtual particles / binary digits 1.e. the
bosons stop interacting in wave packets to produce the forces we identify as mass, and the
bosons — which are ultimately composed of the binary digits depicting pi, e, ¥2 etc. (see
“Digital String Theory”) — register as 1's and 0's.

End of "Defining Division by Zero ..."

LIFE AFTER DEATH AND BEFORE CONCEPTION

There is no doubt at all that life exists. If (beyond our limited human perspective) there is
only one entity/event, life can never end and what is called death must actually be
continuation of life in a manner not restricted to this planet or century. All the separate
worlds and periods that exist (represented by 1+1) merge into one existence because
1+1=1. Nor can our present earthly lives truly be separate from their pre-earthly
condition. The lives we have now must be continuation of life we used to have. If there is
only one entity/event, that pre-earthly life probably does not have any reason to be
restricted to one world and one period of time (making reincarnation unlikely).

The brain we possess now did not exist prior to its development in the embryo that
developed and was eventually born into this world. So no memory of pre-earthly life is
possible. But since 1+1=1 and all things merge into one existence, our limited
perspective cannot possibly remain forever ignorant of humanity (and everything) being
part of one unified entity/event. When children are born, it seems they must know 1+1=1
for their union with unified space-time might give them the ability to do and think of
things surpassing their individual abilities - what are called instincts (to suckle etc). By
the age of about 3, they'd forget these things as they learned that 1+1=2 and self is
different from nonself (unless the society they live in is enlightened enough to keep
reminding them of the universe’s unity in maths and physics). If this wisdom is lost, a



6-year-old in the 22nd century will - thanks to pieces of information from her parents and
other sources - undoubtedly have regained the knowledge that all things in space-time
belong to a unification, and that 1+1=1 as well as 2.

Therefore, a 6-year-old child of the next century shall have greater knowledge of basic
truth than all the scientists and mathematicians who ever lived. Maybe a Fields Medal
plus a Nobel Prize in Physics will be handed out to every student on their first day at

school?



